P2 84 1 1 HBUE (T AD : HRAFSNEAN)
RrHT4 HE R | s [ 55 (A) | B | & (B) | HE | & (A+B) HE Dk
JHI 3T 2, 208 12 2, 725 14 2, 745 5 5, 470 19
JHPTHT— T H 980 4 995 1 910 -1 1, 905 0
T — T H 547 2 603 1 593 1 1, 196 2
P =TH 621 1 729 2 644 -9 1,373 0
JHPTHTIU T H 422 1 497 3 518 1 1,015 4
P HT H 299 1 334 1 311 -1 645 0
PR T H 263 0 354 -1 371 -9 725 -3
FESEHT 203 1 234 1 245 1 479 2
A 361 -1 473 0 481 -9 954 -9
T H 1,725 2 2,026 ) 2, 068 -5 4, 094 -7
PIPTHT 321 0 363 0 332 2 695 2
HgTH 819 1 946 -2 906 5 1, 852 3
BT — T H 249 1 363 0 389 0 752 0
T — T B 297 0 442 0 423 0 865 0
HHT =T H 477 -1 677 -2 702 -1 1,379 -3
FHTIY T H 239 3 378 3 376 1 754 4
HrH 227 1 282 -3 277 —4 559 7
H] = 291 -1 380 ) 374 0 754 )
=K 438 1 478 -2 502 1 980 -1
— Y KFMT—TH 0 0 0 0 0 0 0 0
— Y AFNT T H 29 0 46 0 37 0 83 0
G 101 -1 142 -1 133 -3 275 —4
— Y KHTH 4 0 6 0 6 0 12 0
KN A 592 ) 800 —4 818 -3 1,618 —7
[E TN 4, 067 17 4, 809 11 4,928 18 9, 737 29
IR 4, 277 5 4,618 0 4, 607 15 9, 225 15
EC R 1, 244 -5 1, 462 -7 1,528 6 2, 990 -13
R 6 0 8 0 8 0 16 0
ELHR—TH 830 -1 849 -1 970 -8 1,819 -9
ELR TH 1,026 4 1, 152 0 1,172 5 2,324 5
ELHR=TH 795 3 874 -2 858 2 1,732 0
& LRIUTH 645 2 724 4 717 1 1, 441 5
B LRI TH 662 0 811 4 744 -5 1, 555 -1
ELHRANTH 0 0 0 0 0 0 0 0
B T 1,748 10 1,954 5 1,857 4 3,811 9
Wy —T1T 8 267 -2 311 0 311 ) 622 -2
Wy T B 233 -2 269 -2 246 -1 515 -3
Wy b ="TH 402 0 463 -1 483 3 946 2
o EPUT B 607 —4 667 -1 709 -1 1,376 -2
Wy T B 392 0 495 —4 538 ) 1,033 -6
IT—T1H 247 -1 297 0 338 ) 635 -9
Rl T H 556 0 661 -2 702 -1 1,363 -3
FHET =T H 209 3 258 4 313 7 571 11
Zf 29, 926 54 34, 955 15 35, 190 20 70, 145 35
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